



Name: _____

Date: _____ Score: _____

$$\left(-\frac{1}{5}\right)^2 + \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{2}{5}\right)^0 + \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{1}{6}\right)^3 - \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{4}\right)^3 - \frac{2}{5} =$$

$$\left(\frac{1}{5}\right)^3 - \frac{2}{5} =$$

$$\left(-\frac{3}{4}\right)^3 - \frac{3}{5} =$$

$$\left(-\frac{1}{6}\right)^2 - \frac{1}{3} =$$

$$\left(-\frac{1}{5}\right)^3 - \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{3}{4}\right)^2 + \frac{3}{5} =$$

$$\left(-\frac{3}{5}\right)^2 - \left(-\frac{1}{2}\right) =$$

$$\left(\frac{3}{5}\right)^3 - \left(-\frac{1}{4}\right) =$$

$$\left(\frac{1}{6}\right)^2 + \frac{1}{2} =$$

$$\left(-\frac{1}{4}\right) + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{2}{5}\right)^0 + \left(-\frac{3}{4}\right) =$$

$$\left(\frac{1}{4}\right)^0 - \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{3}{4}\right)^3 + \frac{2}{5} =$$

$$\left(\frac{1}{3}\right)^2 - \left(-\frac{1}{2}\right) =$$

$$\left(\frac{3}{4}\right)^2 + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{3}{4}\right)^0 + \left(-\frac{1}{6}\right) =$$

$$\left(\frac{1}{2}\right) + \frac{2}{5} =$$



Name: _____

Date: _____ Score: _____

$$\left(-\frac{1}{5}\right)^2 + \left(-\frac{1}{6}\right) = \left(-\frac{19}{150}\right)$$

$$\left(-\frac{2}{5}\right)^0 + \left(-\frac{3}{4}\right) = \frac{1}{4}$$

$$\left(-\frac{1}{6}\right)^3 - \left(-\frac{1}{2}\right) = \frac{107}{216}$$

$$\left(-\frac{1}{4}\right)^3 - \frac{2}{5} = \left(-\frac{133}{320}\right)$$

$$\left(\frac{1}{5}\right)^3 - \frac{2}{5} = \left(-\frac{49}{125}\right)$$

$$\left(-\frac{3}{4}\right)^3 - \frac{3}{5} = \left(-\frac{327}{320}\right) = \left(-1\frac{7}{320}\right)$$

$$\left(-\frac{1}{6}\right)^2 - \frac{1}{3} = \left(-\frac{11}{36}\right)$$

$$\left(-\frac{1}{5}\right)^3 - \left(-\frac{1}{2}\right) = \frac{123}{250}$$

$$\left(-\frac{3}{4}\right)^2 + \frac{3}{5} = \frac{93}{80} = 1\frac{13}{80}$$

$$\left(-\frac{3}{5}\right)^2 - \left(-\frac{1}{2}\right) = \frac{43}{50}$$

$$\left(\frac{3}{5}\right)^3 - \left(-\frac{1}{4}\right) = \frac{233}{500}$$

$$\left(\frac{1}{6}\right)^2 + \frac{1}{2} = \frac{19}{36}$$

$$\left(-\frac{1}{4}\right) + \left(-\frac{1}{2}\right) = \left(-\frac{3}{4}\right)$$

$$\left(\frac{2}{5}\right)^0 + \left(-\frac{3}{4}\right) = \frac{1}{4}$$

$$\left(\frac{1}{4}\right)^0 - \left(-\frac{1}{3}\right) = \frac{4}{3} = 1\frac{1}{3}$$

$$\left(-\frac{3}{4}\right)^3 + \frac{2}{5} = \left(-\frac{7}{320}\right)$$

$$\left(\frac{1}{3}\right)^2 - \left(-\frac{1}{2}\right) = \frac{11}{18}$$

$$\left(\frac{3}{4}\right)^2 + \left(-\frac{1}{2}\right) = \frac{1}{16}$$

$$\left(\frac{3}{4}\right)^0 + \left(-\frac{1}{6}\right) = \frac{5}{6}$$

$$\left(\frac{1}{2}\right) + \frac{2}{5} = \frac{9}{10}$$